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PAPER 1
(Booklet A)

Instructions {o Pupils:

Do not turn over this page until you are told to do so.

Follow alfinstructions carefully,

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.

You are not allowed to use a calculator

S A

Section Maximum Mark Marks Obtained
Paper 1 (Booklet A) 20 |

* This booklet consists of 7 pages (excluding this cover page)

This paper is not to be reproduced in part or whole without the permission of the Principal.



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
. For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet. (20 marks}

1 Which one of the foiiowing numbers is greatefithan 6070 3807

yj 6 069 000

2f 6070281

/@f 6 069 381
/(Aa)/ 6.700 380

2 Which one of the following fraction is the srallést?

RSN
& R

13
) 20

3 Alisonﬂbeugh't‘%ikgtof flour to ‘bake 3 pies. How much flour does she need to
bake a pie?

9 ke
BT
}ZS lEkg
VS 2 kg

1 (Go on to the next page)
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Find the W&TGHT of tiabgle?ABE.

A
2
Pu

. |

A‘
10cm§
|
8cm
10 cm
12 cm
14 cm

Find theWreaof the triangle below.

B EDT R

5 cm 4om
-.] N

 2em " bcm )
4 cm?
12 cm?
16 cm?
32 cm?

2

{Go on to the next page)



The %atid of the number of Exasermto the number ofgghiarpeners iIsidi

ratio of the number of shar;pg@e;s to the number of figng is%§ What is the
ratio of the number of &hsers to the HokFnumber ofsstationery in the
bookshop? T

)] 1:2
@ 1:3
o) 5:7
glf)' 5:3

Find thesvolume'of theiciiboidt shown below.

/ 3cm

\' 4 am

6cm’

1 12 em®
@ 18cm’
(96 24 cm®
@ 2c

in a class of 38 ‘pupil§, 22: puplls wear glasses. What is the ¥atiox cf the

number of pupils who wear glasses to the number of pupils who dosnot wear
‘glasses?

w 11:8 '1 .o R

j7al 811 | )
f 11:19 |
“ 1901

3 (Go on to the next page)



ifid RAjik shared $86! between themselves. If Srsaih had §6:more
% find the ¥atid of Rajiisgksle to their BEFEhare.

5,1'5 5:7

L.
-

9 cm

cmseasararannaensah

v}

i

E]

]

3

1

:

)
Yol
O«

| 888
g,

4 (Go on to the next page)



11 . The solid is made up of3:emaciibes: Find the volumesof the solid.

B e’
(/25 27 eacm’
@ 162emfom’
) 243enfem’

12~ Thewgtio.of the%éngth'to the Hifeadth’to the height of atuboid is5 v 41 3. 1f
the 165Gt <88 o longeér than thepreadth, find its volume.

36 cm®
60 cm® | -

1620 cm®

% ¢ B3

3240 cm®

5 (Go on to the next page)



13 Eunice cut a birthday cake into $2ipiacest Her brother atdi6ipieces and she

‘femalhing pistes."What fractisn of the cake wasBft?

o

14  Find the¥gligded dtad of the figure.

10 cm?
20 cm? ‘g
30 cm? :

40 cm?

g ®E

6 (Go on to the next page)



15 The diagram below shows a tank filled with water to a‘'dgpth- of. #em. How
much fHioréwater can the tank contain?

12 cm
7cm
3 cm
10 em -
W 150 cm’
27 210cm’
47 252cm’®
A 3s0cm®

7 (Go on to the next page)
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PAPER 1
(Booklet B)

Instructions to Pupils:

Do not tu;m over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

W=

You are not allowed to use a calculator

Section Maximum Mark Marks Obtained
Paper 1 (Booklet B) 20 ‘

* This booklet consists of 7 pages {including this cover page)A

This paper is not to be reproduced in part or whole without the permission of the Principal.



Questions 16 to 25 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. (10 marks}

Do not write
in this space

16  What must be added:to:4389'o thake:450.0002 -

Ans: .

17  Find the ¥atie of 35(26::2)+3X &

Ans:

18  Find the walue. offﬁ% ﬁﬁi— Leave your answer in the Siriplest form.

Ans: :

1 (Goon to the next page)



19 Find the Jalug of ; ' 82 Leave your answer in théi§implest:fapm.

Ans:

20 ln‘@z-??;!ﬁ:zgﬂ find the value ofijx:

Ans:

21 A piece of ribbon@imietreégitong is cut into threg;pigces in the-ratio
%2428, Find the length of the shortest:piece.

Ans: . cm

2 {Go on to the next page)



22 The tio’of the Kgights of twedrees i385} If the Bhiorter treess 15m,'
find thesdifferstice’ between the Tigight of th&two'trees.

Ans: . m

igtigtheof a rédtarigle is 5rem. Its Breadth ig6:om. Find the Fatio of

23 e
its Begadth to its perimeter. Leave your answer in thetsimplestiiom.:

Ans:

24 Michael: Dwayne-and Sitk donated a certain sum of money in the ratio
5 4 - Grespectively. if Siti donated-$20 more than Michael, how much

| Qid%ZSTiti’:donate?

Ans: $

3 (Go on to the next page)



PR

25  Find the veleHiE SR

Lb Tt

50 cm .

Ans:: litres

4 (Go on to the next page)



Questions 26 to 30 carry 2 'marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For

questions which require units, give your answers in the units stated.
; T (10 marks)

fiore-thanPetér and $40 more than SanitTogether they

26  Ganiel has §2
have $48! How much doesgBam’have?

Ans: $

27  There are 32@:pagkets of rice in a factory. % of them are éxported to

Rustralia and —éof them aressold! How many packets of rice are f&ftin

the factory?

Ans::

5 (Go on to the next page)
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28 éof HAASHBlipops is &featto %’:{-Ofﬁamﬁ‘my%“lolhp@@s. if Samimy hashs’

rﬁ‘iﬁﬁ@ﬁsﬁﬂo’refthanﬂna find the number of lollipops they have

HEsatag.

Ans: .

29 Find thé“’é‘fﬁ‘é’dedaréar in the figure below.

18 ¢cm

Ans: B cm

6 (Go on to the next page)



30

Find the $haded-area ofgriangle ABC. «

mmmm A ):-

T

15 cm

Ans:

cm

END OF PAPER -
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PAPER 2

1. Do not turn over this page until you are toid to do so.
2. Foliow all instructions carefully. |
3. Answer all questions. .
4. Show your workings clearly as marks are awarded for correct working.
5. Write your answers in this bookiet.
- 6. You are allowed o use a.calcuiator |
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

(10 marks)
1 What is the‘missing number in the box?
4 .16
6
Ans:
2 What is the ratio:of the number of ‘gows: to the ndmber of“rabbits to the
number offionslin thesimplest ferm?-
Ans:
3 The following sofid is made up oféicm cubes. What is theliolumesof the
solid?
Ans: cm?

2 (Go on to the next page)



4 A container epmpletely filled'with syrap weighs T kg Theimassg of the
emptyscontaifey is 85047 What is the iass’of the container when it is fialf ]
il with syrup?

Ans: | g

5

i

Ans: ! cm?

3 (Go on to the next page)



Questions 6 to 18, show your working clearly in the space provided for each
question and write your answers in the spaces provided. The number of marks
available is shown in brackets [ ] at the end of each question or part-question.

' : (50 marks)

6 The ratio of @ar's.age t0RavEs:age isi5: 7 thisyeaBOiiian wasiByedrs!

Ans: _{3]

et

7 A rectangular container is136icim:by-22:cm-by 18:cii’ What is the fs’nammum

number ofigicm:cubes thatggansbe-placed into:the:container?

#]18em

36(:&1

Ans: ' 3]

4 (Go on to the next page)



i of the ice-cream sticks are §6d# The f&maining:ice:cream sticks are
i Feamysie

giffictyellow. er:gregn. Thetjeliowsicecreamistick$ are Bireg times as'many. |

' @stheigreen-eng. How many ice-cream sticks are there altogether if there

Ryellowicepreanisticks®

Ans:! | 3]

The #reavof the sGf

perimeter of the square. -

l

(14t is the siie?as the sredl of thetiangle. Find the

A

8 cm

~Ans: _ : [3]

5 (Go on to the next page)
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S 6 :;:ifé;'ﬁgigﬁt?‘ How manyigiipstare needed toffill thesrectanguiartank,

Exwidletely if the Bapaityofeach cup isi50:cm’?

Ans: [4]

a2

of the t;__:cg.atalfnumben*pﬁcékes.m_ Box A istequal to Z of the*total number-of

. ) ) i .il ,
gakes in ‘Box B. The number of cakes in¥Box C'is only 5 the fiumber: of;

pakes-in.Box-B. After Higif-the number of cakes in Box B are femoved and

@2:cakes in Box G. How many cakes are irfBox A?

Ans: {31

6 {Go on to the next page}



satotal

Hé{ve the 3HE:

Ans: Ali: 3 }

Bala:é . }

Cai:| } [4m]

7 {Go on to the next page}




13

Woris Gthes and B
costifes!
(a) How much did? Sindy

(b)  How much did she spgndion her'ﬁaag

{1

Ans: (a)

(b}

13]

(Go on to the next page)



14 In a school hall, a%€&itEih

e

it ofitiiiEnidican be arranged such that
there are SABIIRTSHHdSnts:petrow: If theysar
arranged IffIBWSI6EG SttidentgBaeh: there will bé}‘ﬁmaggggwgan&%&*

sWidentsiefiover; How many Stiidéntssare theretltagether?

nernumberef students is’

[4]

Ans:

9 (Go on to the next page)




16 There ares8;B40:households and there are $3iaptepsiforeveny:§:int
hggisSehelds.y How many @g&%g@g}g are needed so that there will &2

Tl L

4iticuseholds?

{apigps ford

Heimee

Ans: {4}

10 (Go on to the next page)



16  MrPhua Chu Kang bought Sitiis&iasimany: packets of bryanl ricegas:nas
rllemak:for his workers. He paid a %’eté‘l:’@,;‘ 165, Bich: packet’of Biya 9cost

symiichyas aypacket of Basideimak. He paid®bfor aipacket of ﬁfvﬂn?

(a) How many packets of gasilemiakidid he buy?
(b) How many packets ofébnpyanisies: did he buy?

Ans: (ai {4]

(b)) 1]

11 (Go on to the next page)



Mrs Tan bought sgimg stationery. 5 of the stationery werefensg which;cost

Ll
wed:

90g-each, . of them werespencilswhichBeSUS0} sstiTand thisest were
gerasers.whichiggst 30¢-each. She spentizB:9fon thegeESiand:pencils.
dlon thegigsers? -
tion the staliorany?

(a) . How much did she §f

(b)

Ans: (a) ‘ 131

(b} [2]

12 (Go on to the next page)



18  There were 42

Bipeaple in the hall Geforéitissstatofitheiconoost. The Batjtof

the number of §idiESto the number ofEiEIEE At that time was¥

theggiigifof the concert, the ratio of the number cfmalesie the number of

SRH AT

aales becamezdiSitThe number offiAISSY

R RN -

and at the end of the concert remained the¥&ges

(a) What was the number of@iﬁ'ﬁlﬁﬁéﬁefore; the §iitiof the concert?
{b) What was the number ofggzaplétat theBsfieh of the concert?

T

Ans;: (a) ! [2]

) B

End of Paper
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EXAM PAPER 2010

SCHOOL : ROSYTH PRIMARY
SUBJECT : PRIMARY 5 MATHEMATICS
TERM SA1
Q1 1 Q21 Q3 | Q4 1051 Q61 Q7 108 | Q9 (010(0Q11]012]|013 Q14| Q15
4 2 1 2 3 2 4 1 3 2 3 3 2 3 1
16)445611 17)51 18)111/12 19)1/12 20)11
21)30cm’ 22)10m 23)1:7 24)$45 25)12 litres
26)$10 27)216 packets of rice 28)165 lollipops altogether
29)52cm2 30)31.5cm2
-Paper 2 ” B
1)24 2)2:3:1 )
3)12cms3 4)1000 — 350 =650
650--2=325
350+325=675g
5)12-4=8 6)9:13
2x4x8 =16cm:2
7)36=-4=9 8)Yellow—>45
22--4=~=5 Green—>45--3=15
18-:-4~4 45+15=60
9%5x4=180 . 5u—>60
180 cubes can be placed into the 1u>60-:-5=12
container. 11u>11x12=132
There are 132 ice cream sticks
altogether sticks.

Page 1 to 2

page 1




9)12x9x9 =36
36 = 6x6
6x4=24
The perimeter of the square is 24cm.

10)2/5 x 50 x 40 x 30 =24000
24000--250 =96 cups.

11)8u—>32
1u>32+-8=4
5u—>4x5=20

There are 20 cakes in Box A.

12)3u->396(Bala at first)
1u>396+3=132 (Carl gave to Bala)
8u->132x8=1056 (Ali at first)
7u->132x7=924 (Carl at first)

13)a)65 x 8 =520
Cindy has $520 at first.
b)520--5=104 (clothes)
104 +65=169 (clothes and shoes)
520 - 169 =351
3513 =117 (bag)
Cindy spent $117 on her bag.

14)21-16 =5
120+-5=24
21x24=504
There are 504 students altogether.

15)Currently Later
8840-:-8=1105 8840+4=2210
1105x13=14365 2210x12=26520

25620 — 14365 =12155
12155 more laptops are needed.

16)a)He bought 5 packets of nasi
lemak.

b)He bought 25 packets of bryani
rice.

17)a)She spent $2.10 on the erasers.
b)She spent $28 on the stationery.

18)a)20u~>420
1u>420+-20=21
7u>21x7=147 (males)
13u->21x3=273 (female)
There were 273 females before the
start of the concert.
b)3u->147
1u>147-3=49
S8u—~>49x8=392

There were 392 people at the end
of the concert.
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